RETAN FHR DE (FEAU) 02

1. ROGMHEZE X 72720 V3=173, V30=548 L L (il X. (S35, A1 108, B2, C#345)

(1) /300 (2) /3000
(3) /30000 (4) /300000
(5)  0.03 (6) 0.3
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2. ROFMEZEE X L VT=265, VT0=837 £ LCElHE X, (S35, A1 108, B#24, C#345)

(1) /700 (2) /7000
(3) /70000 (4) /700000

(5)  0.07 (6) V0.7



RETFAN FAER DELE (FAU) 02 BERH

1. ROGMHEZE X 72720 V3=173, V30=548 L L (il X. (S35, A1 108, B2, C#345)

(1) /300 (2) /3000
= /100 x 3 = /100 x 30
=103 =10v/30
=10 x 1.73 =10 x 5.48
=17.3 = 54.8
(3) /30000 (4) /300000
= /10000 x 3 = /10000 x 30
=100v/3 = 100v/30
=100 x 1.73 =100 x 5.48
=173 = 548
(5)  0.03 (6) 0.3
— 3 _ i Z > 77 # \
—,/—100 —,/10 —Ye T NTIERT e
. \/g _ 30 AT AN
10 =1/ 100 TR x V10
=1.73 =10 _ V30
10
=0.173 =5.48 + 10
= 0.548
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2.

ROGHEZE K. 272 VT=265, V70=837 L LRI L. (S35, A1 10%, B#h2, C#k35)

(1) V700

=4/100 x 7
=107
=10 x 2.65

= 26.5

(3) /70000

= /10000 x 7
= 100v/7
=100 x 2.65

= 265

(2) /7000

=+4/100 x 70
=10/70
=10 x 8.37

= 83.7

(4) /700000

= /10000 x 70
= 100/70
=100 x 8.37

= 837

6) V0.7

=1/% e TR A

= A AT x VD
100
V70
10
=8.37+10

= 0.837
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